BRI/ ANAIEA

PVC/SO

EHRR

Part Number
03030S0030050004
03030S0030050005
03030S0030050006
03030S0030050008
03030S0030050010
03030S0030050012
03030S0030050016
03030S0030050020
03030S0030050025
03030S0040070006
03030S0040070008
03030S0040070010
03030S0040070012
03030S0040070016
03030S0040070020
03030S0040070025
03030S0040070030
03030S0050080006
03030S0050080008
03030S0050080010
03030S0050080012
03030S0050080016
03030S0050080020
03030S0050080025
03030S0050080030
03030S0050080035
03030S0060100008
03030S0060100010
03030S0060100012
03030S0060100016
03030S0060100020
03030S0060100025
03030S0060100030
03030S0060100035
03030S0060100040
03030S0060100045
03030S0060100050
03030S0060100055
03030S0060100060
03030S0060100065
03030S0060100070

R
M
M3 x4
M3 x5
M3x6
M3x8
M3x10
M3x12
M3x16
M3x20
M3x25
M4 x6
M4x8
M4x10
M4x12
M4 x16
M4 x20
M4 x 25
M4 x30
M5x6
M5x8
M5x10
M5x12
M5x16
M5x20
M5x25
M5x30
M5x35
M6x8
M6x10
M6x12
M6x16
M6x20
M6x25
M6x%30
M6x35
M6x40
M6x45
M6x50
M6x 55
M6x60
M6x 65
M6x70

Size (mm)
DK K )
55 293 255
55 293 255
55 293 255
55 293 255
55 293 255
55 293 255
55 293 255
55 293 255
55 293 255
7 3.91 3.05
7 3.91 3.05
7 3.91 3.05
7 3.91 3.05
7 3.91 3.05
7 3.91 3.05
7 3.91 3.05
7 3.91 3.05
85 491 4.06
85 491 4.06
85 491 4.06
85 491 4.06
85 491 4.06
85 491 4.06
85 491 4.06
85 491 4.06
85 491 4.06
10 5.85 5.08
10 5.85 5.08
10 5.85 5.08
10 5.85 5.08
10 5.85 5.08
10 5.85 5.08
10 5.85 5.08
10 5.85 5.08
10 5.85 5.08
10 5.85 5.08
10 5.85 5.08
10 5.85 5.08
10 5.85 5.08
10 5.85 5.08
10 5.85 5.08

Dk
[ 3
‘ :l :j‘l Hd
S

EHET RS Size (mm)

Part Number M DK K S
03030S0080125010 M8x10 13 7.82 6.08
03030S0080125012 M8x12 13 7.82 6.08
03030S0080125016 M8x16 13 7.82 6.08
03030S0080125020 M8x20 13 7.82 6.08
03030S0080125025 M8x 25 13 7.82 6.08
03030S0080125030 M8x%30 13 7.82 6.08
03030S0080125035 M8x 35 13 7.82 6.08
03030S0080125040 M8x40 13 7.82 6.08
03030S0080125045 M8x45 13 7.82 6.08
03030S0080125050 M8x50 13 7.82 6.08
03030S0080125060 M8x60 13 7.82 6.08
03030S0080125070 M8x70 13 7.82 6.08
03030S0080125080 M8x 80 13 7.82 6.08
03030S0080125090 M8x90 13 7.82 6.08
03030S0080125100 M8x100 13 7.82 6.08
03030S0100150020 M10x20 16 982 81
03030S0100150025 M10x25 16 982 81
03030S0100150030 M10x30 16 982 81
03030S0100150035 M10x35 16 982 81
03030S0100150040 M10x40 16 982 81
03030S0100150045 M10x45 16 982 81
03030S0100150050 M10x50 16 982 81
03030S0100150055 M10x55 16 982 81
03030S0100150060 M10x60 16 982 81
03030S0100150070 M10x70 16 982 81
03030S0100150080 M10x80 16 982 81
03030S0100150090 M10x90 16 982 81
03030S0100150100 M10x100 16 982 81
03030S0100150150 M10x150 16 982 8.1
03030S0120175020 M12x20 17.87 11.79 10.1
03030S0120175025 M12x25 17.87 11.79 10.1
03030S0120175030 M12x30 17.87 11.79 101
03030S0120175035 M12x35 17.87 11.79 10.1
03030S0120175040 M12x40 17.87 11.79 10.1
03030S0120175050 M12x50 17.87 11.79 10.1
03030S0120175060 M12x60 17.87 11.79 10.1
03030S0120175070 M12x70 17.87 11.79 101
03030S0120175080 M12x80 17.87 11.79 10.1
03030S0120175090 M12x90 17.87 11.79 10.1
03030S0120175100 M12x100 17.87 11.79 10.1
03030S0120175150 M12x150 17.87 11.79 10.1

hR#EFr A BENLATE



	Sheet2

